mean # PXL hits vs eta

<pixel hits>
w
)]

15

0.5

.......

o+

Rati

0.95

=
!
i
"
b 4

tog --o--- o

--e-¢ 9-0- g0

|
w

N

1

| mean # PXL Layers with measurement vs eta

I

<pixel layers>
w
)]
|IIII|IIII|I

W

N
I

15t

N
[6)]
TTTT[TTTT

R

......

mean # STRIP hits V|

—=— DQM_V0001_R000000001__ Global__mkFit100Timeo__RECO

__mKkFit100Time__RECO

22

<strip hits>

16 -+

—e— DQM_V0001_R000000001__Global

2o
-

{7 R

- ﬂ-‘-h'-++‘+,,++"“ _____

TCRRR. S

--e- 000

<strip layers>

T L e

S S

--e- 000




	Contents
	Page 1


